Name:

Solving Absolute Value Equations

Directions: Solve each equation

1.) |-2x|=12 8.)
2) |5+x=3 9.)
3.) |5x]=15 10.)
4.) |x—1|= 11.)
5) Ilx+5|=4 12.)
6.) Ix—2/-5=-4 13.)
7.) 10|-8x| =80 14.)
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'S N

o[- 12

o - 1

-10--s

|Ix —2|—-2=5

|10 —2x|—-1=3

—5|2x-3|=-5

8+ |2x — 6| = 22




ANSWER KEY

1)  |-2x| =12 {-66) 8) 9 =12 3-8

2) I5+x|=3 {-2,-8) 9) 8ff|=18 (9,-9)

3.) |sx|=15 (3,-3) 10.) [[-10=-9 5-5

4) |x—-1/=7 {8-6} 11.) |x—2|-2=5 {9,-5}
5) Ix+5/=4 {-1,-9} 12.) [10-2x|-1=3 (3,7}
6.) I[x-2/-5=-4 (3,1} 13.) —-5[2x-3|=-5 (2,1}
7.) 10|-8x| =80 {-1,1} 14.) 8+ [2x—6|=22 {10,-4}
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